67

67

TOP13,t

6 6

6 6

t=10cm

—
1

15cm

20

20




V=

V=

6 6 40. &

6694

0.01

0 .00

/

09.

) | 09.

669

669

669

6 65.

6 65.




(M-30, )

MmE 4.03
A2 1.00
A3 1.03
A=1 0 6 ®40.

6 2 30.

180

230

6 6 40.

6 6 40.

6 6 40.

2

669

669




10cm

15cm

=

=

3.08
No. O

50 10. %

2070

1450 O
. M6

4 .05

3.

0

8 Mo .

.40

7+5.

5 0 10.

5 0 10.

207

207

207

207

2

501

83

2 0L

2 0L




.00

.00

10

10




94

®30

25

TOP13,t =14

t=10cm

—
1

15cm

28

28







V= 86 95 & 0.01 8619

> 8619 ° 8 69.

\= 2500 x 0.3 x 0.35 7 .20
> 7.20 ° 70

8619

7 .20
> 9339 ° 9 39.

( ) ( )/ 09.
\= 9339 0.00 [/ 09 9339 °* 9 39.




L

2500

250

2 50.




¢ 30

10m
S
sl g
(ep] n
( )
S 30 §
=10 © 300
100 330 100
530
= 10.000 10. 00 10. 0(
030
= 0.538 0. 538 10. 000 2. 09
S-30
= n/ 4 x 0. 3302 x 10. 000 - 0. 55
2 1. 5 43 1. 95
= 0.538 4. 008 10. 000 21 046 21. 24
= 0.538 10. 000 5. 0 02 5.30




(M-30, )

A= 4 .55 x

A1 08 ™095. O

19 10.

. 55

8 6 95.

8 6 95.

8 6 95.

8 6 95.

2

2

869

869




10cm

15cm

=

=

3.27 x

3.07
No. O

7102 %

2824

1910 O
3.

3

3.

0

.08

7 Mo .

.40

m2

8+11.30.n8

71 02

71 02

282

282

282

282

2

718

75

2 84.

2 84.




.00

.00

10

10




68

68

TOP13,t

t=10cm

—
1

15cm

27

27




=

=

6 7 60. %

6756

0.01

0 .00

/

09.

) | 09.

675

675

675

(92}

(92}

(92}

6 77.

6 77.




(M-30, )

A= 4 .15 x

A=1 06 ™M60. 5

15 00.

.51

6 7 60.

6 7 60.

6 7 60.

6 7 60.

2

2

676

676




10cm

15cm

=

=

4 .15 x

4 .05
No. O

6 7 60. %

2760

1500 O

4 .

4

4 .

0

M1l

.05

5 Mo .

.40

7+ 10 .40.nb

6 7 60.

6 7 60.

276

276

276

276

2

676

90

2 71

2 71




.00

.00

10

10
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